o S
o &
—_—
rEE
N
o) wm Mom ° <
o 2TE N 3
] _ )
ﬂ? o) A Mm_ o o !
W x = = N e M -
- = =
= W o A s X o
X R = o & 2 N
*H M N e %E o m% ] o W
oo o ) -~ e 2 % N A= ol Aol
m Ld.,u ~ - o M ,Ul R M Hlo — Al 1% R O ,&M
o & ss & %m = - T
& Ry Il N o Be A
= %33 SES 2 T~ K I o9
e D L K i N = ~ o B =
So o pY = o Ho o s o B -
2 5 .oLE N = N mw I M 2
o) N > r ] .
ol g W h — e ol 1 i} A~ o ~ = E
US| = o i ]F © o A2 . u- SLJA 5
- oF M < N B BINE) i o, o Bl
5 2L @aﬁ1uum,E12 N = A HVﬂao
=z %ﬂ?E] = ~ Po.lH = Mnﬂeg%
et W i o o ol S I L= + 7 & = BB g ml g
M [f-57% Zg:t :
2 F C Lz - 4 = - 2= o B
= S | N = o o = o = 0
Ak - g P o)) Al — N e O
’ CNC) e x = I%Aﬂ 12
NS N A 3 o) ok
R . o= = B & LR <
SR 5 A 0o [N M e 2 g =
N B it & - H H o I o
ofo 2 ~ & = ST B 7
— Al m S - reliret o - e g
- W2 ) S oyt T ;o
oy =T o © @ R 2 ) | e g
No 3 nA/m —_— = ] ™ o N B I O
PR, ok o, 0 —~ ol N _ N
— o 1W§ = A a = _
%WML O T % = o = NAk S = = I
T o o— o & &
—_____._ nog e E % W A eI a e ¢
M & < M & o ne ® @
== o o 2 I B \ = 2 o8 = )
-_HI B mw o = 2 S i
= -~ — - 5 S
ol I T | sT =
o B S T v T
o 0 .am o o<t ool oo X o oL
ar kw4 - ® %mﬁkw < 7
s ; R o ° —~
A SNS) aazfmo% ST o
0l © 5 S = L& T L e
1r o ol A =% o N =K S ) o <
OO 5 op o s A s T < o
o o E ¥ o 5 o =
T Ko o = I = 7l o ~
W oF jars ~ W Ay
R I v aopr N %o & o = ,_]t_ o ol }
Sy w s > 2 R & & Mo o N
N = oo on olo NOg W o N
—_ l o ° B NGB im wm— .
Mo ) W] m o | = o S , 4 2 = o ﬂy e
ZEER I o ° e EEERR " x
JQME ﬂaﬁ.m N mr A — % Eﬂmo
; @ W NIl do 2 m; 4 oo = , = ol
- o o B g - . ERCI
o R B ® B ° L = = Al -
B o 5 B oo B N w T H
2 _zrv g _zT| 3 - - a/‘_ ‘W‘._ o
= N 5 ,ml» > wA|T SR o — A =
@] o N = — % ey [ ) O
: _ B BN ™ W Z
mH
0 @ W W wm 3D_16 A, &
S W — o o M~
I % I I _1 |00
o3 o < I I
&) o C
ak ) &
@



+ 9,

&
7
9
5m

=
| =+
A
ko
3.
]
B

o T om
P:

2m
100N

? (

#
k = 100N/m

2

ﬂ
ao
2]
<]
R

0
T [P e
W RE |
= X ALK
TR E W

M N o o

15 100NS 28
o %4 KN/m]

fy
1

[

A

[

o) AEL FAYh

1.75m
15m+ 6

@ 200
@ 300

n, o7 EE

2

il
2
=y
&4
200 MPa

o ‘_Iﬂﬁ._

d ()9} o] w2l P = 250N
A
5

7.
B

A

ks

N

N
\

i

227

3m

s9e W, wF

)

sto] WAl Ao,

&

st P = 10,000 kNe]
[e]

S

2}
A
2kN/m

v vV v v Vv

QA M=1kN'm

of o

=
@ 25
W=

@ 450

[e)

L

—— > 4MPa

4m

4 MPa

27 (&, 74

]

]

A

D 125

@ 25

D 150
® 300

)

Is P7F CHoll 283

m
—> P
>

o]

@ 5

@ 3
3m

@ 4

@ 8
2L

o] nAE FAel

32kN/m
B

LAY&‘

A

]

6m

3EA
P2
3EA

P2L
6EA

2P 2L

@ 2
® 6



L

(c)

200 mm

2 (
100 mm

3

@ M,:M,=8:7
@ M,:M, =24:23

@ 103
@ 6

(b)

(a)

@ M,:M, =4:3
® M,:M,

100 mm

16:15

A

(a)

200 mm

D 123
@ 83

(rigid

=2

=

=

0.1 N/mm?’©]

100kNY o,

ool F

X A Aol A
Hol oy
s w

I

3a2
20P
3a®

H 1lm
16P

1=}

AR ARS-
27 (&, AL 2o AL FAE)

ol a3 2L SR

ol
Poleh

o

3

=

&
Il
3

10° N/

& Collq e ) d54

(b)s} 2ol

16. 173} #o] g We] Zol7k 100 mmel ©AA7F A
E

=]
RS

C \\\\\
B ||||||||
<G e
S) e © S
¢
> 8
> o -
> o |5
W|v = B ™
>
¢

D —84x10"*
@ —84x107°
@ —7.6x10""
@ —7.6x<10°



